3H23H
16:30|# P 15%EE
16:20|HEHE
17:30|F 1t
18:20|HEH &
19:20|#THP2%EE |FTP3%E |FTH3EFR
20:00|HEHE f=L\6 St=hri=
20:10[# P28 #TP3EEE |FiP3fzE
20:50|7=L\6 HEHE A=tz
21:00[#T R 23BF (FiP3tR |FP3REE
21:40| 5 =m0 [F=Lvh HEHE
3H29H
16:30|$i/I\5 i
16:20|HEHE ASt=hiz
17:30|#7/I\5 FHh1ER
18:20|HEHL ASt=hiz
19:20|#iH 24t & |FTR3EE |FH3EH
20:00|7=L\6 HEHE Atz
20:10|FTHP2KEE | 3HF |FH3kE
20:50|HEHE f=L\6 St=hri=
21:00|F 2= |FHH3EE |FHP3EEE
21:40(1=L\5 W & HEHe
4828
16:30|$i/I\6 i1z
16:20|HEHL ASt=hvi=
17:30|#7/1\6 FHh1ER
18:20|HEHL At=hiz
19:20(#HHIHEE (3% =E
20:00|HEHLE ASt=hviz
20:10|#TH 3= |FH3EEE
20:50|7=LV6 HELE
21:00|#H3ERl |F 3R
21:40|p5& f=L\6

16:30
16:20
17:30
18:20
19:20
20:00
20:10
20:50
21:00
21:40

16:30
16:20
17:30
18:20
19:20
20:00
20:10
20:50
21:00
21:40

3A24H

Fp1gsr
St=hvit=

#ve
HhELe

Hrh1ER
St=hvi=

#ve
HhELe

ot
-L\H

Hh3%EE
HEHe

e 3EFR
St=hi=

Hh2%EE
HELL

a3
=LvB

o= R
St=hvi=

o
-L\H

IR
p3&

3%
HEHL

3A30H

#NS
hEHe
#NS
HEHe

2R
HELL

2R
HELL

o
-L\H

16:30
16:20
17:30
18:20
19:20
20:00
20:10
20:50
21:00
21:40

16:30
16:20
17:30
18:20
19:20
20:00
20:10
20:50
21:00
21:40

3A25H

Hh1%EE
HhELeE

Fhits
HhELeE

Hh2kE
HEHe

o
=LvB

Fp2its
=LvB

3A31H

#ihe
HEHe

#ihe
HEHe

bR E
HELE
#Fep3gE
-L\6

Fhstts
=L\H

o= R
At=ht=

Fh3ttE
=L\B

3% EE
HEHe

16:30
16:20
17:30
18:20
19:20
20:00
20:10
20:50
21:00
21:40

16:30
16:20
17:30
18:20
19:20
20:00
20:10
20:50
21:00
21:40

3H26H
#/1N6
HELE
#/1N6
HELE
FHPIEEE |FH3ttR
HEHLE [z
Fh3HF |Fh3uE
f=l\vb Sf=hi=
Fh3tt R |FhIXEE
=L\6 HEHE
4H1H
#/hb 1%
HhEbE |Afh:
EIUA) Frh1ER
HhEtE |Afh:
Frp2ER
A==
FrpofE
f=Lvb
Frp2ER
A==




